
SECTION 3.6 DERIVATIVES OF LOGARITHMIC FUNCTIONS

1. Fill in the derivative rules below:

d

dx
[arcsin(x)] =

d

dx
[arccos(x)] =

d

dx
[arctan(x)] =

d

dx
[logb(x)] =

d

dx
[ln(x)] =

2. Find the derivative of each function below:

(a) y = ln(x5)
(b) y = (lnx)5 (c) y = ln(5x)

3. Find the derivative of each function below:

(a) f(x) = x2 log2(5x
3 + x)

(b) g(x) = ln(x2 tan2 x)
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4. Find dy
dx for y = ln

q
x+sinx
x2�ex .

5. Find y0 for each of the following:

(a) y = ln |x|

(b) y = e�x sinxp
1�x2

(c) y = x
3px
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The same formula in
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trick : use  implicit  diff
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trick : implicit differentiation
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